BT TRIA O - HEHHEE X T 3;5217&12)% KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,176 87,059 41555 45504
RIRET1T 5 15 7 8
RIRET2T 24 52 24 28
RIRET3T 168 544 266 278
RIRET4T 391 982 485 497
B 588 1,593 782 811
REH 2,656 6,248 2,932 3,316
L&A 4,220 9,622 4,555 5,067
5E 2,530 6,007 2,918 3,089
B AN 1,231 2,818 1,317 1,501
BERT 1,165 1,830 856 974
BER2T 657 1,303 629 674
BHERST 394 906 452 454
g 2,216 4,039 1,937 2,102
BARE 255 655 331 324
= 2,202 5,285 2,495 2,790
hERE 621 1,461 668 793
e 2,376 5,210 2,512 2,698
25 L ET 2,245 5,206 2487 2,719
B &AL BT 76 162 66 96
HEFILET1T 572 1,243 579 664
HEFILET2T 623 1,390 657 733
HEZFILAT3T 601 1,417 696 721
g 1,872 4212 1,998 2,214
B & it B Fr ET 685 1,666 802 864
BHEREBET1T 609 1,253 596 657
BHERERET2T 756 1,767 863 904
BHERERETST 747 1,628 736 892
HEFMHET4T 460 1,011 488 523
HEHFMHETST 801 1,656 796 860
HEHFHET6T 872 2,020 972 1,048
HEFRET7T 848 1,928 927 1,001
HERERETST 70 213 101 112
£t| 5163 11476 5,479 5,997
HEF R FET 1,815 3,956 1,924 2,032
S|EFET1T 564 1,519 756 763
S|EFET2T 769 1,849 882 967
S|EFET3 T 708 1,418 667 751
g 2,041 4,786 2,305 2,481
ERE1T 552 1,331 633 698
EIRET2T 384 1,005 498 507
EREIST 471 1,337 649 688
EIRETAT 690 1,553 712 841
EIZEIST 468 978 489 489
g 2,565 6,204 2,981 3,223
M EFHE 2,783 6,387 3,028 3,359
J\THET1T 29 32 11 21
J\THET2T 25 64 31 33
J\THEI3T 58 132 62 70
B 112 228 104 124
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